Building The Universe With E=Mc2
Ode to Open Space

Einstein discovered the secret of all seeing;

Location really IS the Essence of Being.

To observe & measure means to be well outside;

All experience is by feel when locked inside.

Ever-present gravity is location cue;

You are in open space when you can feel no clue.

Light traveling there must go as fast as can be

As mass, M, with an average speed equal to c.

Starlight Energy, E, One Cosmos lets us view;

Endless open space beyond----is yet to ensue.

E = nhf = Mc2 (M = nh, f = c2) as Universal Harmony (UH)

The speed of light, c, as a constant of “open space” acts as a fundamental space-time definition. In Einstein’s most used equation, c is the constant average speed of energy transfer between celestial systems as observed by our telescopes.  More locally, the speed of energy-mass transfer varies intimately and instantly with on-going changes in the inertial effects of the dark matter it travels through -- one frequency pulse at a time as measured. Ongoing dark matter pulse level variability of transfer speed gets averaged out because of the huge quantity of ideal-fluid dark matter in which all visible matter is interactively immersed. The dark matter immersion of orbit-pulsing electrons both inside and outside the atom, provides both the means of consistent measure and the host of cloud-chamber mirages to which we assign separate particle-wave identity to.

The quark is smallest energy-mass transfer mirage we identify as a ‘particle-wave’: they each represent 1 of the 6 degree of freedom vibration-directional-pulsing of electrons at a given R location in space.  Each minimum energy, h ergs, quantum wavelength is a world line of 1/h Higgs real world, maximum density, point like particles.  That is, a dark matter material point whose replacement radius is R acts as a quantum carrier as one world line of Higgs particles pulses from one R to another next door in one of six directions. 

The electron pulse-wave we measure is then a ray of radiation that is 1/h R’s long, and the string  is wound around those R’s to proceed in just one of 6 possible directions from the beginning R location. Our observation and measure of that ray of radiation is that it moves along the centerline of the helix, through the R centers, at an average speed of c in open space -- from a burning/or reflecting celestial object to our instruments here on the surface of the Earth. We observe & measure just one dimension of the electron mass-energy transfer through the fluid dark matter of space-time, while the real world electron is made up of 1/h helical one-turn world lines that are collapsed (projected) onto the centerline in forced crude measure.

We really have no idea how many distinct R centerline rays of radiation are going through the lens of the telescope or through the measuring light/electron microscope. All we know by crude measure is that the average frequency of pulsing of the radiation gives us a measure of energy to which we must apply either E = Mc2 or E = nhf, where the values of M and n are fabricated  by problematic analyses to yiel experimental consistency of observation and measure. The h and c symmetry of UH saves the day for us and lets energy & mass be coherently confused in terms of h ergs and h grams as the minimum quantum of energy and mass, with the calibrated insert of an n value that takes up the astronomical mass-measure slack per quantum  of 1/h grams! That is we let n be correspondingly small as mass multiplier; never knowing or caring that it takes 1/h electrons to make a unit of mass. 

The truth as revealed here by M = nh, is that all mass-measurable particles are either multiples or parts of the electron. That is, the electron must be seen as heavy photon where the photon is seen as minimum quantum wave pulse. It is the underlying UH of h & c symmetry that allows us to predict with precision despite all the quantum level pulse event uncertainty. Why? Because one electron is 1/h quanta in helical string wave tandem, and a unit of mass converted to energy per E = Mc2 is a helical string wave that forms a single ray of radiation that is 1/h electrons long. The ray of radiation moves along in open space at the speed of c so that the distance c, is the projected centerline of the ray over a period of one second. Consistent meaning for distance (space) and time as both are measured from here on planet Earth, is given by Einstein’s two way, AC-mode E ( Mc2.  Electrons stored as mass inside the atom and released as consistently measurable energy, are used in turn to measure both mass & energy as we collectively experienced such.

Collective experience in a real world physics context applies to all visible matter, and the identity of all observable objects is maintained in a self-assembled way by its complex pattern of binding energy closed loop electrons. Closed loop electrons that constantly come & go in huge numbers from resonant groups of atoms--- literally real time bind underlying dark matter to make it a living part of all visible matter (atom-made) entities. Organic or inorganic does not matter in this respect--the atom itself is bound by the closed loop (orbiting) electrons it hosts in prodigious numbers in a self assembling real-time manner. Thus each atom of our bodies is as alive as the biological organism they collectively form as emergent sentient wholes, or Holisms. That is, the atom itself is an inorganic sentient holism! It is made so by the unique identity given to it by its binding mass-energy electrons.

 Each atom alternately absorbs and releases electrons in sizable numbers just to mark its constantly changing energy state. Heating and cooling of atoms increase and decrease energy state whereby the number of ongoing alternating electrons increase and decrease in direct proportion. We directly experience molecule size electrons one at a time with an average radius here on Earth of 10-6 cm. We also measure radiation from outer space in that frequency range determined by radiating molecules here at the Earth’s surface. Atomic matter is “visible” in terms of molecular size electrons not single atom size.

  Energy state for each atom is marked by ongoing values on each side of the AC-Mode energy-matter equation, E ( Mv2 ( nhf, where M = nh & f = v2 as numerical identities. A new dimensionality prevails in that mass in terms of n as a count of closed loop electrons, means mass cannot be treated as a dimension as it is now. Further, measurement uncertainty is not problematic but deterministic based on our inability to parse the parallel and series application of n as the number of electrons involved.  It is this space-time entangled uncertainty of our measure that also hides the real world meaning of the anthropic principle. We cannot separate (un-entangle) parallel-entwined electron helical string pulses and we incorrectly assume each electron segment of the ray of radiation is pulse to pulse discontinuous rather than helical string wave tandem-series-continuous. Wave measure requires a 3-D energy -projection but we are static-math-point-trapped in doing it in a one dimensional way. We simply cannot series-parse the quantum and the electron pulse levels. New math is needed as well as new physics. Only the h-symmetry embedded in what we must coherently mean by “mass” & “energy” saves us from our Wheeler-announced stupidity and allows us to grossly predict outcomes. 

A Univiverse Built from h & c symmetry per Planck & Einstein

When star data as collected by Kepler and by Edwin Hubble is involved, there is an obvious underlying harmony (UH) that revolves around the constancy of c, so that the constants of physics must all change anytime we change the value if c in the slightest. The true Hubble constant has a value Ho = hc, which very much signals an underlying UH when you let c also be the one directional pulse acceleration in open space, and an electron of mass h grams be what is being pulsed! The Hubble constant is then a constant pulse force observable in open space, and not an indication that the universe is expanding. UH is then a dynamic, elastic symmetry of space-time involving h & c as it applies to energy & mass.

Where does Planck’s constant, h, come from? It is the single parameter key of universal harmony of Kepler, which he found but did not recognize because the Black Body study of all radiation that led to Planck’s great discovery was not then known. If one takes the Kepler data on the motions of the planets and assumes a  moving (oscillating) math center for all the replacement sphere radius R-distances of the planets, a new coherent set of R-distances multiplied by the square of the average orbit speed are all equal to 1/h! Planetary orbit distances from that new Solar System replacement sphere center tells what the average orbit energy and speed squared must be regardless of the mass variation. The one revolution moment of energy (MOE) of each planet must be precisely equal to 1/h ( 1026 ergs! 

Any change in the value of h must show up inversely in the measure of c, and vice versa. This is the warping of space-time that Einstein needed and it turns out to be much simpler than his metric stress tensor field equation, as G = (R/3v2 where G is the Higgs particle radius as it defines a spin surface location on R whose 3-axis energy must equal 3v2 ergs, and ( is the unit energy vector.

If we let Plank be right, then E = Mc2 does indeed numerically equal nhf, where M = nh. That is, both quantum energy and quantum mass are numerically equal to h! Thus both E = Mc2 = nhf where M = nh, n = the number of electrons & f = c2, are expressions of the universal harmony of the coming and going of energy in the form of electrons whose constant mass is h grams and whose least  (minimum) energy is h ergs. That is, when n = 1, meaning one electron pulse, whose mass is h grams, an energy transfer of E = hf ergs occurs where the frequency of pulsing is one per second or f = 1; because f = (v =1cm/sec)/(( = 1 cm) and v-squared is unity, here meaning h ergs over one second of pulse time for a 1 cm wavelength. That is, an R size carrier material point whose perimeter is 2(R = 1 cm.

If we want pulse energy to equal c2 ergs, then a unit of mass must be equal to 1/h electron pulses in parallel so that n = 1/h for each pulse distance and each pulse time. For this to make good physics sense, n must be parallel electron transfer and f must be serial electron transfer. How totally confusing is that for a current best theory that predicts using problematic math but does not reveal mechanical space-time detail at the measurement aperture level? Electron pulses are simultaneously passing through in parallel and the grossness of our measure lets h-symmetry fool us so we cannot differentiate mass and energy at the single electron local event level.

M-Theory is un-teachable to the really curious

The newest theory that supposedly puts Einstein theory to shame is M-theory. It has been recently greatly sold to the public via the media hype called “The Elegant Universe”. It manages to emphasize greatly the need for new math by totally denying the mind’s eye visualization necessary for sharing truth in a truly scientific and philosophical way that can eventually be passed on at the genetic level of learning. The best visualization attempts by “The Elegant Universe” are very inelegant -- it is hopelessly “blur-ugly” for the human mind; including the minds of  elite non-physicist mathematicians who claim to understand it. 

Richard Feynman in his famous 3-volume lecture series on physics made it clear as can be for the practical physicist, that math comes only after understanding at non-math levels of mechanical visualization. He sites the fact that mathematicians have generally contributed little to practical discovery throughout history. 

We can and must do better using h & c symmetry that reveals the true meaning of “visible” and allows very satisfying philosophical-gut-feel physics. The value of c is that dark matter circulation speed that defines the best -measured outer boundary of the atom--- and all other gravity fields measured-- solely by their most light-reflecting shell boundaries-- when looking from outside the field.  Using this insight as to how the universe must be visibly structured per the rhythm of M = nhc2 (  n(10-6) leads to Table 1 structural calculations as shown on the next page. That is, visible matter mass as a count of binding energy closed loops must discretely pulse-increment in terms of molecular size electrons! How anthropic is that for molecular measure?
Table 1: Structuring the gravity field & Universe using E = Mc2 = nhc2 ( n(10-6)

Gravity field dark matter shell structure for given nesting level, n,  ith shell, where visible matter must  orbit the central black hole at speeds between c and (c in order to be sufficiently bound as atomic matter to sustain its self-assembling electron closed loop binding-energy/mass identity.

	Shell #, i
	Shell Radius Rin
	Shell Depth Gin
	Circulation Speed, vin

	0
	R0n = math pt
	Gon = R0n/(v0n)2
	von = ((R0n/3G0n)

	1
	R1n = R0n(1+h)
	G1n = R1n/(v1n)2
	v1n = ((R0n/3G1n)

	2 
	R2n = R1n(1+h)
	G2n = R2n/(v2n)2
	v2n = ((R0n/3G2n) 

	n
	Rin = R0n(1+h)
	Gin = Rin/(vin)2
	vin = ((Ron/3Gin)

	Nesting Level, n
	G0n  ( (([h8-n] Higgs Radius
	BH radius, rin = = (([h4--n]
	MOE  = G0nMmax
	Radius r for v = c      *
	Radius r for v = (c      *

	8 Cosmos
	Unity!
	1/h
	1/h2
	1/h2c2
	1/h2c

	7 SuperG
	(( h 
	 ((h/h 
	 ((h/h2
	 ((h/h2c2
	(( h/h2c

	6 Galaxy
	(h 
	 (h/h
	(h/h2
	(h/h2c2
	(h/h2c

	5 Sun 
	 ((h3
	 ((h3/h
	 ((h3/h2
	 ((h3/h2c2
	 ((h3/h2c

	4 Solar S.
	h
	Unity!
	1/h
	1/hc2
	1/hc

	3.x Planets
	((h5 - h
	 ((h  -  1
	variable
	 variable
	 variable

	2 Atom
	(h3
	 (h3/h
	 (h3/h2
	 (h3/h2c2
	(h3/h2c


Substituting G0n = (([h(8-n)]  in G0nMmax =  G0n(nhc2) ( G0 n(10-6) =  Constant Moment of Energy (CMOE) = Rin(vin)2; Rin = [h-n/4]/(vin)2, & Rv=c = [h-n/4]/c2, Rv= (c = [h-n/4]/c. [8 ( n ( 2]. Higgs I and Higgs II are G-size maximum density energy flow particles at boundary of radiating immutable atomic BH nucleus, & at the plasma Inner Grain (IG) of the SS BH, respectively. For Planets: n = 31/9 for Mercury, 31/3 for Earth to 38/9 for Neptune. *Right two columns are shell radius values for the dark matter circulation speeds of c and (c  that brackets where visible matter must orbit in the field.  Yes, astronomy needs to know for sure that the dark matter field goes far beyond visible boundaries. 
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